CSCI 6303

ASSIGNMENT 5
Dr. Abraham
1. Convert binary to decimal and decimal to binary.  Show your work (you will not receive any credit if just the answer is given):

A. 22 
B. 65 
C. 11111111 

D. 110100111011 

2. Add the following binary numbers

11111111 

110100111011 

3. Subtract  11111111 from 110100111011
4. Using Two’s Complement the following binary numbers represent what in decimal?

00000011

00000010
00000001
00000000

11111111
11111110

11111101
5. Convert to Hexadecimal
68 decimal

110100111011 binary
6. Represent +39 and -43 in Two’s complement form and explain how you obtained the answer.
